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On which date, atom bomb was dropped
on Hirosima ?

(A

August 6, 1945
(B) August 20, 1945
(©)  August 25, 1945

)

August 30, 1945

Which one was the first movement
orgdnised by Mahatma Gandhi in India ?

(A) Champaran Movement
(B) Kheda Movement
(C) Civil Disobedience Movement

(D) Quit India Movement

At which place, the first conference of the
Non-Aligned Nations was held ?

(A) Belgrade (B) Cairo
(©) Lusaka (D) Havana

Who was the author of the “Mein
Kampf” ?

(A) Napoleon (B) Hitler

(C) Mussolini (D) Lenin
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6e9de §6a1Q1F1 QAR ARFIE 6QIAI
aQaIRdial ?

(A) @@ 6, 1945
(B) @08 20,1945
(©) =ea 25,1945

(D) s 30, 1945

A SINIE QIR NABER A0S 6QE
2IRIFR QIR JaA AR AQI ?

(A) SMIGR 26RIRR
(B) 649 2CAIRR
(C) 28R UM ACRIRS

(D) «UQQLIQ AR

66191 FQ6AT QUFAINTR GAT AFRRT
6qd0I6a 2g89 621e8qI ?
(A) 69R699 (B) @I9sal

© qael (D) 2@Rl

Mein Kampf @ 6a%@ @4 86a ?

(A) ereaiRAR (B) 2eaa

(C) qeaRM (D) 6eade



Which Round Table Conference was
attended by Mahatma Gandhi ?

(A) First Round Table Conference
(B) Second Round Table Conference
(C) Third Round Table Conference

(D) None of these

Which place of Odisha is known as
‘Raktatirtha’ ?

(A) Tram (B) Dhamnagar

(C) Nimapada (D) Puri

Who is the writer of ‘Odia Bhagabata’ ?
(A) Kalidasa

(B) Jagannatha Dasa

(C) Upendra Bhanja

(D) Bhima Bhoi

What was the immediate cause of the First
World War ?

(A) Treaty of Paris

(B) Treaty of Berlin

(C) Policy of England

(D) Murder of Francis Ferdinand

C

696 6EINEEYM 630R6R ARIA QIR 6AIS
ceadeq ?

(A) 989 6EINEEQR 6309
(B) {010 69IR6EQM 6309
(C) 9919 6aINEERR 630%

(D) 6w€dea g6

63410 6ad QRQ “0901” QIan ?

(A) aaa (B) IAReQ

(C) damael (D) g1

“0RE 69e”a 6aHe &4 ?
(A) eIRQQ

(B) oRid @ia

(©) @698 om

(D) aweaIR

gan 8gqgee aig Q108 @'a 8ql ?

(A) auda <@

(B) <fe @R

©) oRea e’

(D) €I9dQq 6a6aGaIaE 264
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When did Mayurbhanj merge with
Odisha ?

(A

January 1, 1949
() March 1, 1949

©
(D

April 1, 1949

June 1, 1949

Which village of Puri district is famous for
Patta Painting ?

(A) Raghurajapur (B) Kadua

(©) Lataharan (D) Nimapada

Under whose leadership, ‘Khudai
Khidmatgar’ was formed ?

(A)  Chittaranjan Das
(B) Gopabandhu Das
©

(D) Khan Abdul Gaffar Khan

Bal Gangadhar Tilak

Who used the term ‘Cold war’ for the first
time ?

(A) Ho Chi Minh
(B) Mustafa Kemal
(C) Bernard Baruch

(D) Lenin
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(©) <ER 1,1949
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a1 fae 694 gin asde aid gads ?

(A) QeI (B)
(D)

1gal

©) aoIead aeiagl
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(B) 6qigeq @@

Jeese e

© R aTe Fa]

(D,
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@4 gase ‘o109 98”7 aefq Queela
ehdea ?
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(B) fQIT 6aaIR
©

(D)

adie Qe
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13.

14.

15.

Which of the following hill ranges in India
is different from the other three in terms
of its origin as well as structure ?

(A) The Garo
(B) The Khasi
(C) The Mizo

(D) The North Cachar

Which of the following sets of river valley
projects in India is correctly arranged in
North-South order ?

(A) Koyna; Tungabhadra; Mettur;
Periyar

(B) Koyna; Tungabhadra; Periyar;

Mettur

(C) Periyar; Mettur; Tungabhadra;
Koyna

(D) Tungabhadra; Koyna; Mettur;

Periyar

Which of the following soils is formed due
to high temperature, high rainfall as well
as high humidity ?

() Black soil
(B) Lateritic soil
(C) Peaty and Marshy soil

(D) Red soil

C

13. QIRSA G67I9 674 TILIPAIRI 918 2R G2
€0% Q89 aey BeqIfoIg @R ?
(A) slsal
(B) i@
(C) dsel

(D) @ea Qo

14, QIR0A 6RIS 694 91 RANS CAIRRI QTR
Q0@ 6 2ea-08a @A 628 ?

(A

6RI69Q1, QFNQI, 6616Q, CARAQ
(B) 6RI69RI, QFAQI, 6ARAR, 67
(©) cadala, 6AgR, QH2I, 6RIDRI
(D) QF9gl, 62IGRI, 675, 6ARAR

15. 76919 696l 7j@a 28@ slaaigl, 29e 98aI9
o2 28@ 296l saig 98 coIRed ?

(A) Q8 q@el
(B) QI66QIAE @G

(C) @s 6 eqIgd qasl

El

6QI2e F8aI
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16.

18.

19.

Which of the following pairs of places and
the mineral extracted therein is incorrectly
matched ?

(A)
(B)
©

Kosamba - Mineral oil
Kshetri - Copper
Mosabani - Manganese

(D)

Neyveli - Coal

Which of the following industries in India
is ideally suited to the co-operative
sector ?

(A) Cotton textile
(B)

(C)  Petro-chemicals

Fertiliser

(D) Sugar

What will be the temperature of a place
(altitude : 2500 metres) if the sea level
temperature in the same area is 27°C ?

(A) 11°C (B) 16°C

© 27°C (D) 38°C

Which among the following places does
not receive precipitation during winter ?

(B)
(D)

(A) Chennai Mangalore

(©) Shimla Srinagar
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9P 6 620168 @YD 62ad<l 38 F679
6AI3gER Ay 6260 OR VR ANGS
Q6 7

(A) 6aiQnl - 89639
(B)
©)

6891 - 69l
QEIeE - AIFRe
(D) 6R6aA - 6RIRR

A9 76719 600 §8S ArITIA 688 ARI6A
Q6a8 Qasalat.?
(A) @dia eae
(8)
[(®

a

6065101

(D) &8

2BIQ A7 9eR SIAAIGI 27°C  6RIaden
2500 fie A7 98S AeSIER A 1@ AR
QITAIRI 6960 629 ?

(A) 11°C (B) 16°C

© 27°C (D) 38°C

R6719 frIQ 676 YR FIRIRIR ASGIAR
AR [aN ?
AFIEAIR

(A) eomia (B)

© aael (D) 41ee@



20.

21.

23.

The latitudinal as well as longitudinal
extent of the mainland India is

approximately :
(a) 28° (B) 29°
© 30° (D) 31°

Which of the following oilseeds is
cultivated in Northern India in the Kharif
season but in Southern India in the Rabi
season ?

A) Groundnut

)  Mustard

Cl

) Sesamum

5335

D) Sunflower

Why no delta has been formed in the
mouth of river Narmada ?

(A) The river flows through a rift valley.

(B) The river mouth is affected by strong
ocean currents and tides.

(C) The sediment load carried by the
river is low.

(D) The stream is fast flowing due to a
steep gradient.

The following local terms are used in the
desert areas of Rajasthan in connection
with ‘rain water harvesting’. Identify the
odd one out from among them.

(A) Johad (B) Khadin
(C) Palar pani (D) Tanaka
c

23.

Q0 99 9eea Aard o2 dae 986
91068 :

(A) 28° (B) 29°
© 30° (D) 31°

36919 674 60RIIGT QR WEGER AT

0560 @ o4 AR 98 AR 918
QUL 7

SIQiQIn

=

caifie

C

il
Qg e

CRGRCEC

adal /@1 (eIa6e QTR
cRIARE ?

Seaiead 98

(A) @ 99199 g2RAGYR! A1 69R gRIFe
6268 |

(B) @ q9ia 2I8 g9e A9TR 6316 6
QARG NI 6RRAIN |

(C) <@ @91 Qe addira ag adeide
Qe |
(D) 2de QIedad 62q. 12l @ geaiat

|atl

ARFR 715 29960 ‘QASR A’ ARG6R
76919 UMD FIAYER LS 62ARAN |
GRAYQ AARTEEY I8 :

L=t
caal

(A) 6oiIQ (B)
(©) gl am (D)
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24.

25.

26.

27.

Which of the following group of trees is
noticed in the Monsoon forests of India ?

(A)  Acacia, Kikar, Silk cotton
(B)  Birch, Juniper, Silver fir
(C) Ebony, Mahogany, Rubber

(D) Khair, Mahua, Kendu

In Which year World Trade Organisation
was formed ?

(A) 1995 (B) 1998
© 1992 (D) 199

Which one of the followings does not
promote national integration ?

(A) Secularism
(B)  Social Justice
(C)  Regional Disparity

Economic Development

In which year Parliament enacted Right
to Information Act ?
(A) 2005 (B) 199%

(© 2002 (D) 2000
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619 696 Q8 AFR AIRGA 67 2EHER

o

QA6SISN 6RIRAN 7
(A) zeida, e, 407
(B) QIF, @haq, daea aa
(C) Q6IR, 6A6ATRF, Q9a

(D) @oR, 7199, 699

§q @1dsy @aoe 6ad Ad2Iea G900
c21pdql ?
(A) 1995 (B) 1998

(©) 1992 (D) 199%

6419 FIQ 606 RICD A2V QMIER RGB!
Q6q 0lF ?

(A) ¥ Gasasel
(B)  QAfIBR QU
(©) 28RQ edam

(D) ude Sqi8

606l (260 A°AQ o7l TR AR gEae
Qaaa ?
(A) 2005 (B) 19%

(© 2002 (D) 2000



28.

B0.

31.

Which one of the followings is not a
permanent member of the UN Security
Council ?

(A) China (B) USA

(©) India (D) SovietRussia

How many Fundamental Duties are there
in the Indian Constitution ?

(A) 06

©) o8

The responsibility of preparing the
Electoral Roll in India lies with which of
the followings ?

(A) Parliament
(B) Prime Minister’s office

(C) Election Commission of India
(D) Supreme Court

Which day is observed as the UN Day ?

(A) 24t November
(8)
©)

(D)

24th October
10t December

26 January

10 - C

28.

feqI8 g 6Q06 Ade @IBaa Faaal
afeeq A1 a9y 9E8 ?

(a) om® (8)

(D)

491§ AR

C) «uee 6QAIR4Q, Q8

QARG A"TURER 6R66TIT 6615Q QEQY
a@ar

(A) 06 (B 10

© o8 D) 12

ABER 6RISR VAR GO A V2R ATG?

(A) @ae
(B) gquiedals @idieg
(C) «Ieea FSier al6aIs

(D) @99a Poea

69 §9a0Q RI6Q°a §9Q QR AIRR
QAU ?

(A) @6070 24 BIAS

(B) U6QIe9 24 QIR
(C) @6anq 10 oA

(D) SIQAR 26 QIR
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32.

33.

34.

Which of the followings is not a
Fundamental Right Indian
Constitution now ?

under

(A) Right to Equality

(B) Right to Property
(©) Right to Freedom

(D) Right against exploitation

Which of the following sources of energy
is environment friendly ?

(A) Coal (B) Electricity

(C) Wind Energy (D) Natural Gas

National Population Policy, 2000 targeted
to achieve a stable population in India by
the year :

(A) 2025

(© 2030

2020 ®)

(D) 2045

Which kind of power accounts for the
largest share of power generation in
India ?

(A

Hydro-electricity
(B) Thermal

©

Nuclear

(D) Solar
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FATE Fug 6RET I6Q NNGTA AT
&de 2deie ged ?

AAIee! 2R

(B) Qalee 2dua

QRIRG! ATQIQ

64Iae FearIca 2RI

3

F9RG0 694 ad @gl 0f6d BRQR 09
266 7

(A) 619l (B) daye &8

(©) aee 48 (D) QIRde aua

QUG SRAG 1§ 2000 60d ¥ g4l
QUAGER @ LRA°YI 21AQ A QAW
@l ?

(A) 2020 (B) 2025

© 2030 (D) 2045

35. 4% 9PR6A ARGER 604 gRIR TRYe 4FR

QIS zea eFa ?

(A) e29eye,
(B) <108 G@4Q,
©

(D)

2699 8940,

6dia 48



36.

37.

A rise in the rate of economic growth due
to a rising share of working age people in
a population is called :

(A
(B)
«©

Demographic Pyramid

Demographic Transition

Demographic Dividend

()

Dependency Ratio

Which one of the following programmes
was initiated with the main object of
bridging the gap between irrigation
potential created and potential utilised ?

@A)
(1)
(©

Watershed Development

Command Area Development

Comprehensive Crop Insurance
Scheme

(D]

Wasteland Development
Programme

The procurement prices are those :

(A) at which government
foodgrains for buffer stocks.

buys

(8)

at which fair price shops sell
foodgrains to the customers.

(C) prices that provide minimum

guarantee to the farmers.

(D)

prices at which people buy food
from market.

12 - C

36.

37.

38.

«Q 9AA°aYIEa QIdigior HFAIRER 2°a QF
caig 2da16e gadsa ceeliel 9B 20
@9 Qaide ?

(A) ecardie daiema,

(B) eeQrd@ie afees
(©) eeardie QIara

(D) @elasl 218

996297 Afdy 98 6 Andy SRcals AR
MOIQ 9ad ARSI Y AVISA F6FID 66
QdRA 2Iea eaipdal 7

(A) o0 3R Joi8
(B)

©

g 6898 FQIa

QANFQ 64 1A 6AIRRI

(D) 980 &f a8 ARl

YR AR QARG FRIAN ?

(A) QIRAYISI AR GHIEAR RGIR ARIES
SN QD *R2IBI

(B) QIAIQIAI GIRRAING AN 7R 6QAIR
CIRIACR HMAQY Fga 2B |

(©) 606 @8 QEFIRG KA FEa6!
CRIGIREIN |

(D) 694 9R6Q FRAVIRG VRIOG SN 9

*RaEs |
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39. What should be the optimum area under

40.

41,

forests in a country to maintain ecological
balance ?
(A)

2% ®) 23%

© 26% (D) 33%

Cropping pattern refers to :

(A) Areas under a particular crop at a
given point of time.

(B) Ratio of area under one crop to
another.

(C) Relative distribution of cropped area

under different crops at a given

period of time.

(D) Ratio of net sown area to total

cropped area.

A closed loop lying in the xy plane carries
a current and kept in a uniform magnetic
field. The force acting on the loop is zero.
Then magnetic field is in :

(A) x direction
(B) y direction
(C) 2z direction
(D)

any direction
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39.

40.

NQ 62666 08 QAAINY *9Ia adiQl
QARG 660 AOIA ULYREN 698 FAR
2P0 6210 AF9N 60 ?

(A)

22% (B) 23%

© 26% (D) 33%
OO QB FELYIB ARUQ QXN ¢

9@ #8a ana ariee caIFe Fde
AR LLIAREN 688

(&)
(B) 6aIGN a9R 6 264 OR Bade 6aeR
o

e 5da a0 A1AIee S8a aaq zede
QI8 eAILIGES 6990 26ala 987

©

(D

641G G181 68Q FEQAR 68Ga 216

NG G946 ARQRR RQA 90 99D xy ANGR
N9° 4R QAR 6886R 2QAIe | @
990 068 67193 99 AQYE 608 BF |
6069 QAR 699Q 39 6208 :

(A) x a6
(B) y @asa
(©) zdesa
(D) ¢q ewled Qasa



42

The reading of centigrade thermometer
coincides with that of Fahrenheit
thermometer in a liquid. The temperature
of the liquid is :
—40°C

(A) 0°C

©

(B)

100°C (D) 300°C

43. In which mirror virtual image is
magnified ?
(A) Plane mirror
(B) Concave mirror
(C) Convex mirror
(D) All the above
44. Anelectric bulbis designed to draw power
Py at voltage V.. At voltage V, if it draws
power P, then :
Vi
A) P=-0p,
(A) v Do
v
B P= —]
(B) Voo
vy
C) P=|—| P
©) [Vuj ()
2
Vi
D) P= —Oj P
© p-(¥]r
14-C

42,

638692, DIAFITR TR AR, I MICAFRS
Q1aAIRQAaa AIF 9@ 9ae aeld aid
QAR 6069 089 QIR FIAAIR 6298

(&) -40°C (B 0°C

© 100°C (D) 300°C

6ed eddsn 2IRIAN GOTN Q8% 699 ?

(A) acee oda
(B) zeee ode
©) @er ode

(D) @€6aI8 A

9@ F946 AR F9Ye e V, 60 F9Ye
49 afieer A6l Py 6s | 99 w2l IQYe
399 V 60 3040 69 9961 P 206aI9 Q60
6969 :

(&) P= \\’/—"P0
® P=gh
© p= (%]2 P,
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45.

46.

47.

v

Fw——p

v R

In the circuit shown, potential difference
Vo~ Vg between Aand Bis :

(A) +% volt (B) ,% volt

© +§ volt ) —% volt

A block of wood floats in a bucket of water
Will the block sink if the lift
accelerates upwards ?

in a lift.

(A) Yes

(B) No

(C) Depends upon the magnitude of
acceleration

(D) None of the above

Which of the following are true ?

(a) A convex lens always form a real
image for a real object.

(b)  An air bubble inside water acts like
a convex lens.

() The real image formed by a lens is
always inverted.

(d) Focal length of a plane mirror is

infinite.
(A) @) () (B) (o) (d)
© ®) @ (D) () (d)
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45.

47.

R

s

v

A F—w——p .

v R

QUEAI9 ARAY TRER A I9° B fI6R F4S
399198 V, —V; 6298 :

) +§ volt ® —§ volt

© +§ volt (D) —% volt

<@ Q10 64, 9@ AId QIg AYCR NAAIF
2QQIeR AT Ag auca acade | a8
QA 9@ QAR AARQ 9P @R 6969 6a2
Q0 98F Q@de @ 7

) ¢

® o

(C) 2 RAER AITS QUCH FHQ 6Q |

(D) eaeIs 6MaAT & q6d |

Beqio Mg 69dgEe OR ?

(a) Y9 909 69N AYELER 99 QAL
Qga Q199 godn 9ge a6a |

(b) 8 §e6a A QUEY CAER 9@ QAR
6Red 9F QIdieea |

(c) 66IEY 6RRQQIRI 996 QT gt

AQE6R ARG |

(d) Q999 odeq 9I1Q ¢TI9AR QG
fQide |

@A) @ © B © @

© @ © (D) @, @

C-15



48.

49.

Choose the correct statement :

(a)  Speed of sound wayes in air depends
on its temperature.

b) Speed of light is independent of
temperature.

) Speed of sound wave is more in solid
than in air.

d)  Speed of light is more in air than in
solid.

@, () (B
@ @ (D)

(A)
©

(@), (b), ()
(@), (b), (©), (d)-

5 litres of kerosene oil weigh more in :
(A) summer season
(B) winter season

(C) spring season

none

(D)

1+ J—v

A square metal loop is moving away from
a current carrying straight conductor as
shown in the figure. What is the direction
of induced current across the loop ?

(A) Clockwise

(B) Anticlockwise

(C) No induced current

(D) May be clockwise or anticlockwise

16 - C

48. Q0@ @aq Fda @9 :

(a) QIGAUER G296 699 LY SIAAIR
Qa6a F6ia @6a |

(b)  ZCRIQR 694 QIACIF QAR Feiad®
Q6% |

(c) 490 699 QIg A6AV R0F AId AR
289 |

(d) 26AIea 696 0% a9l eaml Qg
aea ade |

(), (b) (B)
(@), (d) (]

@), (), (©)
(@), (b). (0. (d)

5litre kerosene 60R9 B87 6Q6Q 2R 6297
919 6

(B) 10 g

@8 6g.

6996 & g6

1+ [J—v

665 G181 6R182 UIBY 9RA 1@ ARY T
69109121 QEQA0IG 9aq 98 @qdl 9@
QAAGER 9RA6R 6986 946 6160 T6l 98
629 ?

ofaiee
(B) QIQE
6219 6909 3949 6919 1T

QFgiedl @Al Qe
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51.

52.

A particle having mass m initially at rest
is acted upon by a variable force F for time
interval T. The F ~ T graph is semicircular
as shown in the figure. The velocity of the
particle is uafter time T. Then :

2 2
_ E _a1?
@ = ® w=

If the length of the filament of a heater is
reduced by 10%, the power of heater
will :

(A) increase by about 9%

(B) increase by about 11%

(©

increase by about 19%

(D) decrease by about 10%

STS-11-2019-20

51.

T
Time —>

NQ QIR 989 m 99 92l gIRAa da
23 | v2l agéa 1@ adedadie o T ana
aIe geals 62188 | @d@ia F ~ T graph
2GQERIR OF (as shown) @SR 696 T
QA9 T6Q u 6969 :

2 2

=T =T

@ u=30 @ =T
© ®)

ad <@ 869 Y9 QIea an 10 9dee
dad, 6962 2668 G940 68 8AGI :

(A) 9129 9686 Qf aRe
(B) 9ia 11 9896 QF alle
(C) 91219 9899 QF aee

(D) 9ia 10 gé9e 21q a1’



54.

Atall is dropped from the top of a building
att=0. Ata later time t="t a second ball
is thrown downward with initial speed u.

The time at which two balls meet is given
by:

Which among the following has highest
melting point ?

Ca0, NaCl, CaCl,, MgCl,
(A) (B)
©) (D)

CaCl, MgCl,

CaO NaCl

Electronic configuration of ions of two
elements are X3~ (2, 8, 8) and Y~ (2, 8, 8).
Which of the following may be the formula
of their compound ?
(A). XY;XY, ®)

(D)

XY;; X,Y

Q) XYy; XYy X;Y ; XY,

18 - C

53.

NQ 609 66154 6210190 J8aQ 0Rq t=0
QAAA6A AR 2 SRl | B A A6A t=t;”
QANAER {019 604Q TIOAR 696! u 69 BRY
F6aa LAISRI | 644 AA06R 9R 6ag FFe
6269 ©/21 6208 :

@) o) o
u
o 8l
2|t
® |vg |©
© 2

© (LB,

u

399 g 69E0R TRl ATNR ?

Ca0, NaCl, CaCl,, MgCl,

(A) CaCl, (B) MgCl,

(© Ca0 (D) NaCl

Q00 61A0Q UARAIRES A6AQ,K ISR
62R1 X37(2,8,8) 6 Y™(2, 8, 8) 6A7I9GR
601300 A6E0 Q4 621AI6R ?

(A) XY ;XY (B)

(D) X3Y; XY,

XYy5 X,

(©) XY3; XYy
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56.

58.

59

Which type of charge resides over the
surface area of micelle formed by soap
molecules ?

@A)
(B)
©
(D)

+ve
—ve
No charge

Both +ve and —ve

0.4 g NaOH in one litre solution has same
‘molarity as what amount of NaCl dissolved
in 500 mL of solution ?

(Na=23, C1=35.5)
(A) 2925 g (B)

(D) 05850 g

2925 g

© 02925¢g

Which chemicals are used in manufacture
of Na,CO, by Solvay’s process ?

(A) NaOH, CO,
(B)

(C) NaCl, CO,, NH,, H,0

NaCl, CO,, H,0

(D) None of these is correct

Which of the following gases of group 18
is not found in atmosphere ?

B)
(D) Krypton

(A) Helium Argon

(©) Radon

STS-11-2019-20

56.

QAR AYAIRS QIR R0 FHeana JeGsa
64l QI aN ?

(A)  +ve (a912Q)
(B) -ve (3g91AUK)
(©) 6ai16d 9IF @ &

(D) @98 +ve 8 —ve

0.4 g NaOH @ 4@ 360 aidica 29196 @6a
QP CAINAT 62102, 6968 ¢ift NaCl §
500 mL I8ica @RGe 96, G2l 486 AR
S-S

(Na=23, C1=355)
(A) 2925 g ®)
(D) 0.5850 g

2925 g

(©) 0295¢g

LREAE 998 2QAIA Na,CO; 990 6968
696 QAARLYER MR 62IRRAIN?

(A) NaOH, CO,

NaCl, CO,, H,0
NaCl, CO,, NH,, H,0

6R60 & A0 q6¢

90 18 60 891 696 GHIA VIGAGRER FaUN?

(A) 2Qaq (B)

(D)

Rl
(C) ¢qeR [aee

C-19



60.

61.

62.

Corrosion and rancidity are due to
and

respectively.
oxidation ; oxidation
oxidation ; reduction

reduction ; oxidation

reduction ; reduction

C,4Hz0, and C,HO are the molecular
formula of the organic compounds of
which class ?

(A) Aldehyde and Ketone

(B) Carboxylic acid and Ester

(C) Ester and Aldehyde
(D) Esters and Ethers

In which of the following number of
oxygen atoms are maximum ?

(A) 025 mol FeSO,7H,0
(B) 0.20 mol HyS0,
(C) One mol HNO,

(D) 05 mol CuSO,5H,0

20 - C

60.

61.

62.

QARG 8 AP Q26
s 62ige |

NQ°

(A

QARG ; VIR
(B) @4 ; IRied

(C) 9906 ; I

(D) de0d ; IRIQd

C,Hg0, 8 C,H,0 634l 64410 639 0QAIGRR
W6 UGB ?

(A) 2RPRIRE, 68 F6FIR

QUCRIATAS 87, 6 A/A
29Q 8 ARGLARS,

(D) 984 6 22

ﬁgnaq 6aUFea AASIRR ARG QI
adide ?

(A) 025 671 FeSO,7H,0

(B) 020 6AIR H,S0,
(©) <% 6fIa HNO,
(D) 05 6AIQ CuSO,5H,0
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63.

64.

65.

A green substance “X”, when heated
strongly produces a brown solid and gas
“Y”. The gas is passed into caustic soda
and then the solution is treated with BaCl,
to get a white solid “Z”. Identify ‘X', 'Y’,
‘Z’ and choose the correct answer of their
formula :

(A) FeSO,7H,0, SO,, BaSO,

(B) CuSO,5H,0, SO, Cu(OH),
©)
(D)

CuSO,5H,0, SO, BaSO,
FeSO, 7H,0, SO,, Fe(OH),

The metals which react with cold water,
boiled water and steam to produce H,
respectively are :

(4)
©

Na, Ca, Al (B)
(D)

Na, Mg, Fe
Na, Mg, Ca Na, Ca, Fe
Which of the following is correct ?

(A

Isotopes have different neutrons

(B)  Isotones have different mass number

(C)

Isobars have different neutrons

(D) Al of these

Formula of Sodium Zincate is :
(A) Na,ZnO, B)
© (D) NaZnOj

Na,ZnO,

NayZnO,

STS-11-2019-20

66.

saIGy ageaaa a9ld “X” q 98g Q6R
<@ $@d2 (brown) QFQ @0 @g 6 GuIA
“Y” Q@R @RaIN | @ GNIag 98 6AIPIa
29460 9624 QIR 628 98 BaCl, AR
Agiacn 9@ a9 aga @0 @g “Z”
Afar 1 X, 1Y, ‘Z' @ 89 9e° 6AAIRSR
QA0R Q6SE S QY U :

(A

FeSO, 7H,0, SOy, BaSO,

(B) CuSO,5H,0, SO,, Cu(OH),
©
(D)

CuSO,5H,0, SO, BaSO,

FeSO,7H,0, SO,, Fe(OH);

29118, 9o a1 6 Q19 a%e geRAl @d
29RI 98 QQAUQ UIQYFS QAFEA :

(A) Na Ca Al (B)
(D)

Na, Mg, Fe
(C) Na Mg Ca Na, Ca, Fe
8949 Aug 694 661 AOR ?

(A) Isotopes AFIBIER FAIRTR RYSR, A6l
ae

(B) Isotones (ZINEAICHIR) AIRGR 9G]
Qg §) ‘

Isobars (ZIREQAURRX AITR) RYER,
Qs §)
(D) 299@e 0K

©

6QIPAN B6qE, WSO 62R

(A) NayZnO, (B) NayZnO,
(C) NayZnO, (D) NaZnO,
c-n



70.

Which of the following is not a
micronutrient used by plants ?
(A) Manganese  (B) Chlorine

(©) Sodium (D) Magnesium

Who coined the terms like Phenotype and
Genotype for the first time ?

(A) Gregor Mendel
(B) W. Johannsen
(C) Carl Correns
(D) De Vries

In which subphase of meiosis-1, paired
chromosomes look like rings ?

(A) Zygotene
(B) Pechytene
(©) Diplotene

(D) Diakinesis

The type of Hepatitis transmitted by sexual
contact is :

(A) Hepatitis-A
(B) Hepatitis-B
(C) Hepatitis-C

(D) Hepatitis-D

22 -C

67.

28Il QL 62IRAURI F6¢IS 6R4E 1@ |
qeaiae qed ?

(A) aenge (B) 6qide

© sagaa (D) cuaerdan

@9 gaen FeRICIRa 8 FeRICIRA 98 69
goae eddien ?

(A) §eom sngR
(B) ©9Y. 6RIRIREAR
(©) <8 Q6ard
(D) @189

A63Q-1 @ 626 AAISRIEA 62IP1 46989F
Q8@ QQey cesIad ?

(A) eRsaca

(B) aI@de
(©) @eqieR

(D) QIRANRCHAQ

A1 e Aad Qe °efie ceadel
620IS1R0Q 6208 :

(A) 6RAIFIBE-A
(B) 6eaIe1RGQ-B

(C) 6eaIeIRFa-C

Cl

6RQISISEA-D
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71.

72.

73.

74,

75.

The maximum number of trophic levels
that can exist in a pond ecosystem :

A) 3 ® 4

© 5 D) 7

The nutrient present in milk in least
amount is :

(A) Iron (B) Calcium
(C) Potassium (D) Magnesium

What phenotypic ratio will appear
following a cross between AaBb and

aabb ?
@A) 3:1 B 1:2:1
© 1:1:1:1 (D) 9:3:3:1

The total number of ova produced from
50 secondary oocytes are :

(A) 50 (8)
© 200

100
(D) 250

Tendril of pumpkin and spine of
Bougainvillea are which type of organ ?

A)
(B) Analogous organ

Homologous organ

(C) Vestigial organ

(D) Connecting link

STS-11-2019-20

71.

72.

73.

74.

75.

a4 aQeYIER AQOIQ 6266 ATR HIMAQ
@ afe ?

(a) 3 (B) 4
© 5 o 7

g106a §2, @f afaIeea 89l calgad

6208 :
(A) 2898, (B) «uadaa
(C) sasiRan (D) aueqael

AaBb 6 aabb & IFRAQ 674 QEIAIR AQAIR
QoReY 629 ?

(a) 3:1 (B 1:2:1

© 1:1:1:1 (D) 9:3:3:1

50 §o10@ Snig 6RITy 48 6eadSl Aig
Qs :

(a) 50 (8) 100
(© 200 (D) 250

Q0Ig 989 21ed1 6 QP IR 988 ¢ 674
geIe aa U ?

(A) Qe@ie e
(B) ugqal za
(©) uessgie

(D) e gIae



76.

7.

78.

79.

The hormone associated with reabsorption
of Sodium and secretion of Potassium in
Kidney is :

(A)
(B)
©

Adrenalin
Aldosteron
Prolactin

(D) Thyroxine
Riccia belongs to which group of plants ?
(A)
(B)
©

Thallophyta
Bryophyta

Pteridophyta
(D)

Gymnosperm

In which chemical form the stored glucose
in plants is transported to different parts
through phloem ?
(A) Glucose (B)

(D) Starch

Fructose
(C) Sucrose

Which of the followings is a critically
endangered species in India ?

(A) Indian Cheetah
(8)
©

(D)

Golden Langur of Assam
One horned Rhino

Great Indian Bustard

24 - C

QAR6Q 6AIFAA ges 68188 6 caleidaq
80460 A2 AN 2Q6AIRT 6208 : -

(A) 2IgsaRIAe
(B)

©

AIREHISIAR,
6QINATR,
(D) 296RIRAR,

4521 66 9@ 69416a 2GS ?
(a)
(B)
©

2ACRITING!
QARGING!
60R6QITRG
(D) &eqiad

adiosa 686 6QIe 69d QAAR QAR
SINAQIAI 8K ATQ TSRS cRIRAIN ?

(A) qeee (B) gexe

© s

BAd0 gIaAING A 6966 A°6egd Qe
9% 910 266 :

(A) Qee1a e Qg

(B) Q9 ged Ade

(©) <@ de q@

(D) 696 QFUR QIS
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80. The chemical nature of thromboplastin | 80. g6RIERR QAR Y& 6208 :
is:
(A) Glycoprotein (A) QURREIER,
(B) Phosphoprotein (B) <Q6TI6YITR
(C) Lipoprotein (©) Reasgiea
(D) Insoluble protein (D) uQQ4a 6g9IGR
81, 4352 equals: 81. 432 aqa:
{22 eq 2
13 1 13 1
(A) Hi2 B) (A) 1 B) 5
1 1 1 L
© @) 54 © @) 52
sing cosd sing cosd
—_— =? - +— =7
82 T ow T 1= tanf 82. 1—cotd 1-tan
(A) cosb—sing (B) tand+1 (A) cost—sind (B) tan8+1
(C) cosh +sind (D) coth+1 (C) cosh+sind (D) coth+1
83. One diagonal of a thombus is 24 cm and | 83. 6615 9AQ @da 6364 24 cm 6 ¥2IQ 4@
its side is 13 cm. The area of rhombus is : QIg 13 cm 266 | GALR 6TQAR
(A) 115 cm? (B) 120 cm? (A) 115 cm? (B) 120 cm?
(C) 125 cm? (D) 90 cm? (C) 125 cm? (D) 90 cm?

STS-11-2019-20 C-25



84.

85.

86.

87.

Product of (1011), and (101), is :

(A) (110111), (®) (11011),

(©) (100111), (D) (110110),

If the mean and mode of a data are
30 and 36 respectively, then its median is
what ?

(A) 40 () 32

© 557 (D) 31.69

If logyga + log gb=1ogg(a+b) then :

2 b

@ amih @ ety
_ b __b

© a_b—l © 2 1+b

In what ratio does the line 2x+y—4=0
divides the line segment joining (2, —2)
and 3,7) ?

(A) 9:2 internally

(B) 9:2 externally
(©) 2:9 externally

(D) 2:9internally

26 - C

84.

85.

86.

(1011), 8 (101), @ GO :

(&) (110111), () (11011),

(© (100111), (D) (110110),

99 9@ AWISFA ARIAIR 6 IRIR AAIREF
30 8 36 29 666@ IR ARIANT 6966 ?

(A) 40 ®) 32

© 557 (D) 31.69

a@ logjga+loggb=logs(a+b) 29,
6069 :

60 BQAIBER 2x+y—4=) AARERHIT
(2, —2) 6 (3,7) Q AYS *AAUS 68l YOG
Q99 @09 ?

(A) 9:22e8

(B) 9:2 <@
(©) 2:9 <0
(D) 2:9 29
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88. The sum of first 16 terms of an AP whose
first and fourth terms are 5 and 20
respectively, is :

(A) 600 (B) 765
© 680 (D) 690
89. What must be substracted from

21, 38, 55, 106 so that the remainders are
proportional ?

(A) 8 (B) 6

© 4

99. In the given figure BC|DE, AE=4 cm,
DE=6 cm and BC=9 cm. The length of

ECis:
A
D, E
B c
(A) 6cm (B) 2cm
€ 4em (D) 3cm

STS-11-2019-20

88. 4@ AP @ gaq 16 99a QA§ Fda @a
qieia gad 6 6gd Aegee daIgen 56 20
266 ?
(A4)

600 (B) 765

© 680 (D) 690

89. 21,38, 55,106 6960 J6aI6l @6R JeaIel
RYEQ 1@ QAT 6269 ?

(a) 8 ®) 6

© 4

90. @@ §@6Q, BC|DE, AE=4 cm, DE=6 cm
8 BC=9 cm 266 EC 68645 :

A
D, E

B ¢

(A) 6cm (B) 2cm

(© 4em (D) 3em



9”.

92.

What is the length of the diagonal of a
cuboid having 30 cm long, 24 cm broad
and 18 cm high ?

(A) 28cm (B) 15/2cm
©) 30V2em (D) 60 cm

If x+y=3 and xy=2 then the value of
Poypis:

@A) o ® 7

© 8 @) 5

In the given figure, O is the centre of the
circle, PQ and PR are the tangents to the
circle. The measure of |QSR is :

Q
s >P
(A) 65° (B) 70°
© 75° (D) 60°

91.

92.

93.

30 cm 6964, 24 cm 99 6 18 cm @96l 388
QFDR6R 9da 63dY 6969 7

(A) 28.cm (B) 15yZem

©)  30V2 em (D) 60 cm

A8 x+y=3 6 xy=2 29 666 ©*-17 Q
R -

(A) 6

© 8 (D) 5

@@ §g68 O 984 698, PQ 6 PR 98g®
Q69 268 | |QSR @ QAAIEE :

Q
s »»
R
(A) 65° (B) 70°
© 75°

(D) 60°
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9.

95.

96.

If tanA = % and A is acute, then sinA=?

@ i ® 2
1
© 3 ®) 3

If sum of the roots is 4 and sum of their
squares is 9, the equation is :

(A) 2x2-8x-7=0
(B) 2x2+8x-7=0
(©) 2x2-8x+7=0
)

2x2+8x+7=0

The radii of two cylinders are in the ratio
2:3 and their heights are in the ratio 5 : 3.
The ratio of their volumes is :

(A) 27:20 (B) 20:27

© 14:19 (D) 19:14
If 3¥—3%-1=18, then value of x* is :
(a) 30 (B) 27

© 18 (D) 15

STS-11-2019-20

96.

97.

98 tanA = % 6 A 9@ QY6RIE 249, 696Q

sinA=?
4 5
® 5 ® =
3 1
© 3 o 3

99 19QaR AT 4 6 6AAINTER Sa Ard
9 29 6068 QAFNRRET

(A) 222-8x-7=0
(B) 2x2+8x-7=0
(© 2x2-8x+7=0
(D) 2x2+8x+7=0

Qad ddgea gfia AR ARAIe 2: 3
NS 6ATIRGAR QSBIR ARAIS 5 : 3 26T |
6AAIRGQ AIAORA ARAIGE :

20:27

(A) 27:20 B)

© 14:19 (D) 19:14

@@ 31-3'"1=18 9N, 6069 x* ANG :



98.

99.

100:

I f() = h,g( Jthenf[ )xs
equal to :
A) fx) ®) f(-x)

fex) (D) 2f(x)

From a point, at a distance of 30 m from
the foot of an electric pole the angle of
elevation of the top of the pole was found
to be 60°. Then the height of the pole in
‘m’is:

30
(&) 30 ® 7
© 15 (D) 303

The ratio of the length of a side of an
equilateral triangle and its height is :

(A) 1:43 (B) V3:2

© 2:43 D) V3:1

-000-

9. a¢ f(x):log(}lt

e

’J 24, 6069
x

( 2x

! Ll + xzj =
f&x) B) f(=2)
©) f@x) (D) 2f(x)

666 8940, ¢9a Q12694 30 m QAg
9@ 9199 ¢9a AYNIR 6Ade ard 60°
6268 §4Q Q99! ‘m’ SAER :

30
(4) 30 ® 7
© 15 (D) 303

6Ot AAQIR G99R QLR 63dY B RN
290! ARIER AQI AQAIST :

(4) 1:43 (B) V3:2

© 2:43 D) V3:1

-00o0-
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